2 — Honors
nit 2 — Quadratic Functions
nit 2 Test Review

» Perform the indicated operation:
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3. 3x4(4x —x%+ 2x)

-3+ o

4. (2x—5)(x+3)
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Write the equatlons from #2
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> Solve by Factoring:
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> Write the equation of the parabolain X — mtercept form

23. x — intercepts: (- 3 0)& (-1, 0)
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> Complete the missing information:

27 y=(x+4)2 -4
Vertex (" )-\ ',' LD

Axis of Symmetry: K= L\
X — intercepts:L(D,()) (" 2,0)

y-intercepr: U= (0 >4 =1 (0)1Q)
pomain: _(-9°, w)o(m
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X — intercept form of the equation:

y= (VH'LO ‘/~+9\
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28. y=-2(x+3)(x+1)

Vertex a\\d; (11\(«,. “\Sx (, J
. K==

Axis of Symmetry:

x — intercepts: (”5!0)(.1 )0)'

y — intercept: ( S !' '(0)
Domain: (’ 2, oo) 0f

Range: (’ 00; a]

Vertex form of the eguation:
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